193 239 L3 3nd EERIU0OFER Y - I RKFILE KFH B4

10.

11.

12.

13.

14.

SHEAMIERALS S DEHABA S XTEA o

3o BB A F EATEA TR L A S Y B BhL B S R o P 8k °
F*adicy=f(X)=3x > F1 ¥ HtiH L f(E+16)—f(t-16)=2 > Bt o
e T (X) =X —2X+12—64/2 +/X° —12x+39-242 » H ¢ X 5 F > A f(X) HFohe] & 5 :

#1-2-34-5-6-7-8 -9z 9 BHFEPHE »3xJe> 47 > E R/ > RIBER- BT > ¥ AT andict 3 4P

oo Rl 7~ & P2 fogf B H fehil 5 5 °

ST Lo - B AT B (L2) 0 B Rxy=12 4% - B P,Q  BIPQ k| &5 °

W2 0 AFEE [7=2 - |o|=1" 0|2 —40’ + 720 Frh % B 52 M > B 5 M o BlEH (M,m) = :
+HE- An M EMBERIELE L = 47, R AW A5 2TH = Ple iR v
Bz a9 E Zadi o e g leng 0 TTEINT G 2 RINT G hdB R

2141 > pla= °

% - S f(X) & ij f(t)dt—izx —2X°+px+Q > Ep RE(0,0) Ty My=Ff(X)2 - &3 L5 > P F Byt

(pa)=— -
4 AABC*® > DEZBC:v 2> E & AB ’E:ZEK’E;&i’ﬁi‘%?g&aOo%@-r:G\ﬁEC—’m%= e
x+1 ,x<0 ‘ ) )
‘ﬁm&f( ) |IogX| x>0 = f(x):a"p = A e R B XX, Xy X, 0 B X <X, <Xy <X, 0 R
X (% + %)+ g % (B 4 o
3 M4

TG - BPURELY o AR b BB RENE RL TS EFQR ¢ rP ~ QA BHLE M

1. 3 £ L 12 2 Y

L : y:5x’£’tana=z’E?'J_E_fﬁLm%"'—?‘,% °
* AABC® AB=2 AC=3-BC=4-4% & ABAC} P~ 8P + Q> i #z i#7; PBCQ th5 - £ 5% AAPQ
12 2 5 B PQ = o

AABC ¥ » & so Aghd it % (-1,2) » B2z ¥ 5% FC 82 ¢ MATA SR R 2578 4 W 2 3X+2y=72 x—2y=13 > |
CErdik = °

AABC*¥ » ¢ 5rAB=6+ AC=9+~BC=12 1 % AABCz p = » i | i*— £ %A %% AB ~ AC** M ~ N » A] AAMN 2

Bl @ fE S .

FLIH H,2H



15.

16.

17.

18.

19.

t

4@ AABC® » AB=AC » | 53 pw > HiHw 39 |H=ID > 8]

B D C

N

RERIRHITE - Rh O BRR Y CPENERHEOS N ORE (HP 0<9<E " oSO =—— ) H17 w ¥ FEHE300 &

10
Eﬁ%aj’juﬁ+%m22ﬁ@§®€%%%%§ﬁﬁéﬁ@o EERERLIMGRS P HLEL6002
ArrE P pEL0 & 2 g B FORTH % 0 2 ek hiTES e e R0 R0 RIRE R E PR R gEE_ e
X* +y?
EX, Y9 &3 A2E50ehE Fficr 56X+ 2y — 3{—2} 03¢ [ |2732r05 pls 0 i & anieit (X, Y)
X
£7 s o

FHRMBI 2Rt BEcfcNBI 2 4pF ot H 2 I4pte > B80S 2025 > #73 &% &+ ikenp REgmn»
3M-+4n ek~ &5 °

-Ham‘/‘_}.—’_,f_,t!-_p%iﬁ_‘;—‘i, d HH @gi%;ﬁﬁéfgiﬁ B P|H Y - @,zg.—i,jy‘a}g—ﬁu% 23 QY R 55;, |2 BN

w

54;L%ayifg,gjaif—r ,a,gnmﬁk;,,ﬁg;gja;tm ,aﬂgnmﬁﬁ.?ﬁ_of‘gxaﬁ&w% d 7 e AL

o1

CEEI TARY ERRE FRR R IR ¥ Y S

PERP L R R N ARPER BRI RS UL

wabc>0 w24 2, € 58,
b+c c+a a+b 2

Y Ry=x}-BLP A EPRE Y=l > T AL X EEAE B L4tk ZAPB=0 - RPltanfz B+ fE

@ ?

= l,n23aneN’

& Jp— gtflj<an> ) a1=4 ’ a2=5 ) -'E‘a =

(1) Fept 7| eh- 3F @ -

2H H2H



